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Do not open this Test Booklet until you are asked to do so.
Read carefully the Instructions on the Back Cover of this Test Booklet.

Important Instructions :

1. Immediately fill in the particulars on this page of the Test Booklet with Blue/Black Ball Point Pen.
Lise of pencil is strictly prohibited.

2. The Answer Sheet is kept inside this Test Booklet. When you are directed to open the Test
Booklet, take out the Answer Sheet and fill in the particulars carefully.

3. The test is of 3 hours duration.

4. The Test Booklet consists of 90 questions. The maximum marks are 360.

5. There are three parts in the question paper A, B, C consisting of Chemistry, Mathematics and
Physics having 30 questions in each part of equal weightage. Each question is allotted 4
(four) marks for each correct response.

6. Candidates will be awarded marks as stated above in instruction No. 5 for correct response of each question.
Y (one fourth) marks will be deducted for indicating incorrect response of each question. No deduction from
the total score will be made if no response is indicated for an item in the answer sheet.

7. There is only one correct response for each question. Filling up more than one response in each
question will be treated as wrong response and marks for wrong response will be deducted
accordingly as per instruction 6 above.

8. Use Blue/Black Ball Point Pen only for writing particulars/marking responses on Side-1 and
Side-2 of the Answer Sheet. Use of pencil is strictly prohibited.

9. No candidate is allowed to carry any textual material, printed or written, bits of papers,
pager, mobile phone, any electronic device, etc., except the Admit Card inside the examination
hall/room.

10. Rough work is to be done on the space provided for this purpose in the Test Booklet only. This
space is given at the bottom of each page and in 3 pages (Pages 21 - 23) at the end of the booklet.

11. On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator on
duty in the Room/Hall. However, the candidates are allowed to take away this Test Booklet
with them.

12. The CODE for this Booklet is B. Make sure that the CODE printed on Side-2 of the
Answer Sheet is the same as that on this booklet. In case of discrepancy, the candidate should
immediately report the matter to the Invigilator for replacement of both the Test Booklet and
the Answer Sheet.

13. Do not fold or make any stray marks on the Answer Sheet.

P, =
Name of the Candidate (in Capital letters ) : fz;/; Aﬂ/“’ = Tlp £ &7 L X

Roll Number rinfigures ) |y 19 lo | 2|92 Y

Examination Centre Number: |5 | | 4|5 | &

rin words

Name of Examination Centre (in Capital letters): A DA/~ SEDA DAL Y K L Eie s

Candidate's&‘igmham@ Invigilator's Signature : A‘ﬂk} 5E‘

Downloaded From : http://www.cbseportal.com



~__ Downloaded From :http://www.cbseportal.com

PART A — CHEMISTRY 5. The increasing order of the ionic radii of
1.  The pH of a 0.1 molar solution of the acid the given isoelectroruc species is :
HQ is 3. The value of the ionization 5N Lo o e
constant, Ka of this acid is : @ K* o2- ca2+. Cl-
Gl ol
1) @By G, Ca R
ARG .
= AP s S
(@) 3x10
=3
LA 6. The species which can best serve as

2. Which among the following will be named an initiator for the cationic polymerization

as dibromidobis(ethylene diamine) 15
chromium (IIT) bromide ? Ay ML,
(1) [Cr (em) Bryl™ (2) BuLi
42) [Cr (en) Bry] Br (3) LiAlH,
(3) [Cr (en)s] Br

i (4) HNO,

4 [Cr (en); Br,] Br

7.  The molecule having smallest bond angle

ek |

3, Which method of purification 1is
represented by the following equation :

%

: —f) SbCl

Ti ()2l (g)—2 2 Ti Ty(g)— 00 5 @ 3

= (2) PCl,
Ti (s1+215(g)

_E3) N,

‘{ } Pﬂliﬁg {4] HSCH

(2) Van Arkel
(3) Zone refining
(4) Cupellation

8. The equilibrium constant (K.) for the
reaction N,(g) +O,(g)»2NO(g) a
temperature T is 4 X 10~*, The value of K
for the reaction, NO(g)—V2 Ny(g) + %2 O4(g

4. The compressibility factor for a real gas at .
at the same temperature 1s :

high pressure is

(1) 1+pb/RT (1 4x107*
942) 1-pb/RT /,12} 50.0
(3) 1+RT/pb (3) 0.02
L7 (4) 2.5x107
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9. Iron exhibits +2 and +3 oxidation states. 12. Which one of the following statements is

Which of the following statements about correct ?
iron is incorrect 7 (1) All amino acids except glycine are
\?k[(l} Ferrous compounds are less volatile optically active.
than the corresponding ferric )2] All amino acids except glutamic acid
compounds. are optically active.
_9‘:' Ferrous compounds are more easily (3) All amino acids except lysine are

hydrolysed than the corresponding optically active.

ferric compounds. ! .
ot : (4) All amino acids are optically active.
(3) Ferrous oxide is more basic in nature

than the ferric oxide. 13, 2 - Hexyne gives trans - 2 - Hexene on
(4) Ferrous compounds are relatively treatment with :
more ionic than the corresponding (1) Pd/BaSO, v
ferric compounds. @ LiAlH, - T
"
10, The electrons identified by quantum (3) Pt/H, N &
numbersnand 1: _4) Li/NH,
(a) n=4 1=1
b) n=4,1=0 14. . lodoform can be prepared from all
(¢ n=3, =) except :
(d n=3,1=1 @y 3= Methyl - 2 - butanone
can be placed in order of increasing energy (2) Isobutyl alcohol FAEE
as : (3)  Ethyl methyl ketone i C f'
1) m<(d<@=<E _{4) Isopropyl alcohol i
2 @<@<®<(d
@) ©<@d<®<@ 15. The incorrect expression among the
Wy @<®< ©) < (@) following is :
AH®—TAS® =
11. Which branched chain isomer of the &) Ink= _T ot &
h}rdrocaxbnn with molecular mass 72u 2 K=E—¢G“IRT Ei :
gives only one isomer of mono substituted el
alkyl halide ? 3) AGgystem _ 1 e
(1) Isohexane ASiotal 5 =0 e
(2) MNeohexane (4) In isothermal process, o — -
(3) Tertiary butyl chloride Vi L
. (4) - Neopentane Wreversible = ~TR1 1, P
L
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The standard reduction potentials for
Zn2* /Zn, Ni** /Ni, and Fe’t /Fe are
_0.76, —0.23 and —0.44 V respectively.
The reaction X+Y>T—>X*" +Y will be
spontaneous when :

Al) X=Fe Y=Zn
(2) X=Zn, Y=Ni
(3) X=Ni, Y=Fe
(4) X=Ni, Y=Zn

Lithium forms body centred ' cubic
structure. The length of the side of its unit
cell is 351 pm. Atomic radius of the lithium
will be

20.

21.

In which of the following pairs the two
species are not isostructural ?

_A1) PF;and BrF;
(2) AIF. " and SF,
(3) CO,*" and NO;~
(4) PClT and SiCl,
For a first order reaction, (A)—products,

the concentration of A changes from
0.1 M to-0.025 M-in 400 minutes. The rate
of reaction when the concentration of A is

JLF .-:.I.-o- “1- 7 16 .
MO T e
42) 152 pm mﬁfﬁa (1) 3.47x%107° M/min
= oy "
9) SR 0LS > 5 ) 173x10™* M/min
(4) 300 pm E% o
Y o8 173x107° M/min
18. How many chiral compounds are e
possible on monochlorination of 2 - methyl (4) 347x10”*M/min
butane ? 9 7 o
gﬁ} 4 S 5 22. Ortho - Nitrophenol is less soluble in wate
(2) 6 [ & G e 7 than p - and m ~ Nitrophenols because :
3) 8
0 ( (1) o - Nitrophenol shows -
Ul @ 2 .
N L Intermolecular H - bonding
_-r}l'l K; for water is 1.86 K kg mol~". If your () Melting point of o - Nitrophenol i
By ¥ automobile radiator holds 1.0 kg of water, e Rt e A
how many grams of ethylene glycol p— isomers
i A (C,H,O,) must you add to get the freezing l '
N point of the solution lowered to —2.8°C ? (3) o - Nitrophenol is more volatile i
A 2 (1) 39g /} = A steam than those of m - an
Ez:] s g ;{' 5 {»/ { P- iS0mers.
y o
v\ & By 728 g % 6 [#' 4 % ;LB \y o - Nitrophenol shows
4 9g ) d Intramolecular H - bonding
: /C/ ?éB{PagE'i %ﬂf 7/ SPACEFORROUGHWORK 4
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In the given transformation, which of
the following is the most appropriate
reagent ?

: .-CH - CHC‘DCHE
HO
Q/ CHn = CH ﬂ‘lz(.j'ls
HO

Eea Eent

(1) Na, Lig. NH;
(2) NaBH;
=]
(3) NH,;NH, OH
(& Zn-Hg/HC
24. According to Freundlich adsorption
isotherm, which of the following 1s
correct ?
e B
<) — %P
X e
@ <o%P
A
@) m T
(4) Allthe above are correct for different

ranges of pressure.

26.

27.

28.

Falls

B

Which of the following on thermal-
decomposition yields a basic as well as an
acidic oxide ?
(1) €CaCoO; (
(2) NHNO, ‘\]
(3) NaNOj, 4
—4) KCIO;, U 7
Aspirin is known as :
(1) Acetyl salicylate
(2) Methyl salicylic acid
_{3) Acetyl salicylic acid
(4) Phenyl salicylate
Which of the following compounds can be
detected by Molisch’s test ?
(1) Amines
(2) Primary alcohols
(3) Nitro compounds
(4) Sugars
What is DDT among the following :

(1) Biodegradable pollutant

Non - biodegradable pollutant
(3)
(4)

Greenhouse gas
A fertilizer

25, The density of a solution prepared by
dissolving 120 g of urea (mol. mass =60 u) 30. Very pure hydrogen (99.9%) can be made
in 1000 g of water is 1.15 g/mL. The by which of the following processes Ao =
molarity of this solution is : x5 ___{1) Electrolysis of water =
i 10m S ) = (2) Reaction of salt like hydrides with
z water :
(2) 2.05M Z o . _ )/ >
eaction of methane with stea s
(3) 050M (e -vj{ﬂ oy o2 SERE e Te
b | =) e (4) Mixing natural hydrocarbons of
(4) 178 M o & high molecular weight
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fE)=x—2|+|x—3], x e R.
31. Let 2 and b be two unit vectors. If the

A -3 A T o =
vectars?:’=a+2a and d =53-—4b /Statementl.f =0

are perpendicular to each other, then the
, - Statement 2 : f is continuous in [2, 5]

angle between a and b is differentiable in (2, 5) and f (2)=f (5).

o (1) Statement 1 is true, Statement 2 1t
AR 3 true; Statement 2 is not a correc
b explanation for Statement 1.

B
e
N

(2) Statement 1 is true, Statement 2 i

b false.
\ (3) Statement 1 is false, Statement 2 i
D true
i EEEF .
{
w0 y

(4) Statement 1 is true, Statement 2 i
true; Statement 2 is a correc

)
o4
=
L

I{'.,

R | =l

(4)

explanation for Statement 1.

32. [If the integral
34. If the line 2x+y=k passes through th

jﬁmnx dy=x + aln|sin x—2cos x |+k

tan x—2 point which divides the line segmer
then a is equal to : joining the points (1, 1) and (2, 4) in th
Tk ¢ ratio 3 : 2, then k equals :
gonZie
1 1 L >
(1) 6
il ' 2l
_,f__/—l'/’_’( _)
)W 5 2) 11/5 e
Cols J,)
=
R 3) 29/5 L
(3) 29/ s é'f:—f’f
. 2 7 =
W =2 doy” s =
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35. Statement1: An equation of a common 37. Let ABCD be a parallelogram such that

tangent to the parabola = 16+/3 x and :{'E'i__-_—- E_}, i:iﬂjj and ZBAD be an z
the ellipse 2+ =4 is F=2-T+_2_V'§~ acute angle. If T is the vector that

‘ o i e coincides with the altitude directed from
Statement 2 : If the line y=mx=+— the vertex B tothe side AD, then T isgiven ’
(m # 0) is a common tangent to by :

the parabola y2=16\.@_-x and the

ellipse 232 +y"=4, then m satisfies A
T ==
m? +2m*=24. //m
_H) Statement 1 is true, Statement 2 is p
true, Statement 2 is not a correct
explanation for Statement 1. = - E
{2) L=t 31:1 + = =7="T P L {
(2) Statement 1 is true, Statement 2 is [P-F l ) f,z-) il
false. o
A=
(3) Statement 1 is false, Statement 2 is g ot 167"
true. R e
; ; (5 oLl p L
/ (4) Statement 1 is true, Statement 2 is ; _I;:
true, Statement 2 is a correct - g _ ]
explanation for Statement 5 1
— =3
-3 - P-q —3
36. Three numbers are chosen at random @ ras LT lTEsE
PP

without replacement from{1 23 .. 3}
The probability that their minimum is 3, %

given that their maximum is 6, 18 : :
vz 38. Anequationof aplane parallel to the plane
.."

Q= > e x—2y+2z—5=0 and at a unit distance
4 = from the origin is : l (/w(__ ]) .
(2] T:;' __6 = ?f'.f'f-_r_’__, f’[-é - Ltﬁ I—?.H+22_1==D — 'bf_{‘y(jij{fz" )k
i r . =14
3 %" 5 bé)f} r—2y+2z+5=0 =32 =T
(@ = ' iz
8 L =3) x-2y+2z-3=0 oA T
é = ':E'_ ] i N
4 = T (4) x—2y+2z+1=0 e
e -/ N~ |
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39. Ina APOR, if 3 sin P+4 cos Q=6 and | 42. The length of the diameter of the circle

4 gin Q+3 cos P=1, then the angle R is which touches the x-axis at the point
equal to : (1, 0) and passes through the point (2, 3)
{‘_;ll % i L.
{1} E / 3 } .ul P ' i d 5.0
3 - | f ﬂ/ _,«‘E"G 3 1_‘,2,’ -t _'_{S:_.
Clal o s GleE/A G v
) ek A
5 v . 2 @ wWE L e N\
= (3) Sl 7 K > =
i 6 I 4 N (4) 3/5 A P, &
.'P{/ /I( L4 /") __i..--
. AE 1)4‘) 40 } T?_/
(1 b . 5

! R
40. If f: R—R is a function defined by | 43, Let A=|2 1 0| If u; and u, are
i

(o 2x
\ - f(x)=[x] cus[ 5 ]11'. where [x] denotes

the greatest integer function, then fis : 1
> /(«1’)" discontinuous only at non-zero column matrices such that Au;=| 0 | and
0

s integral values of x.

=% % .
f i (2) continuous only at x=0. 5

: (3) continuous for every real x. Auy=| 1|, then g +u, s equal to

§ (4) discontinuous only at x=0.

=

41. Statement 1 : The sum of the series
1+ (1+244)+(4+6+9)+(9+12+16) 713 -

3 e y
+ ...+ (361 + 380 +400) is 8000. @ |- o) }.,:: v
n 0
Statement 2: 3, (K® - (k-1)*) =n?, \
k=1 ; '_)
for any natural number n. 1 ( P
(1) Statement 1 is true, Statement 2 is 2 |- o 5 A
true; Statement 2 is not a correct t_l 1 it
explanation for Statement 1.
——2) Statement 1 is true, Statement 2 is =1 ; =l
false. 3 |1 <
 (3) Statement 1 is false, Statement 2 is L o
s tme, g e L = :
f{/} Statement 1 is true, Statement 2 is = &
true; Statement 2 is a correct (4) : 55

explanation for Statement 1. = ?
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